### CLAIMANT

# NAME OF OWNER

#155 - Dodson, Fred W.

110-Number of Acres:

Location: Lee Highway above and below Turnbridge.

Roads: It is 11 miles over the Lee Highway to Luray, the nearest shipping point.

Soil: -- The soil is a sandy loam of good depth and fertility, but rocky in a good many places, especially above the highway. The northern part has steep slopes, but they are moderate below, with some level land along the streams. The exposure is south and east.

History of Tract and condition of timber:
The land has been cut over for bark and timber several times so
there is no merchantable timber, but there has been little fire recently
and good young growth to 3" DBH is present.

Improvements: House---log, 15x20', with 10x15' lean-to, 3 room, boarded, shingle roof.----Stable-- Log, 16x22' shingle roof, dilapidated, 2 chicken houses --- Smoke house--- 6x12'--Improvements:

There are about 85 apple trees, 15-20 years old in fair condition. The soil is good and has a good sod. 2 acres.

### Acreage and value of types:

Types	Acreage		Value per acre	Total Value
Ridge:			5	
Slope:	75	@	\$3.00	\$225.00
Cove:	6	@	5.00	30.00
Grazing Land:	4			
Fields Restocking:	24	@	10.00	240.00
Cultivated Land:	3	@	20.00	60.00
Orchard:	2	@	50.00	100.00
Minerals:				\$633.00
Value of Land: \$ 555.0	00			
Value of Improvements:	\$ 275.00			275.00
Value of Orchard: \$ 100	0.00			
Value of Minerals: \$				
Value of Fruit: \$				
Value of Timber: \$ 170	170.00			
Value of Wood: \$				\$1160.00

Value per acre for tract: \$/0,00

Incidental damages arising from the taking of this tract: \$ none.

The St. JEM: CLERK

County: Rappahannock District: Riedmont

## #155 - Dodson, Fred W.,

Acreage Claimed: \*Assessed 120.09 A. Deed 120.09

Value Claimed: "\$350.00 "\$-not given

Location: Lee Highway above and below Turnbridge.

Incumbrances, counter claims or laps: None known.

Roads: It is 11 miles over the Lee Highway to Luray, the nearest

shipping point.

Soil: The soil is a sandy loam of good depth and fertility, but

rocky in a good many places, especially above the highway. The northern part has steep slopes, but they are moderate below. with some level land along the streams. The exposure

is south and east.

History of tract and condition of timber: The land has been cut over for bark and timber several times so there is no merchantable timber, but there has been little fire recently and good

young growth to 3" DBH is present.

Improvements: The improvements consist of the following:

House-log, 15x20, with 10x15' lean-to, 3 room, boarded,

Shingled roof,
Stable: Log, 16x22', shingle roof, dilapidated,
2 chicken houses @ \$15.00
Smoke house, 6x12',
\$200.00
20.00

Orchard: There are about 85 apple trees, 15-20 years - old in fair condition. The soil is good and has a good sod. 2 acres are valued at \$50.00 per acre -- \$100.00

Acreage and value of land by types:

Туре	Acreage	Value per acre	Total Value
Slope	55	\$3.00	\$165.00
Cove	6	5.00	30.00
Fr	24	10.00	240.00
FC	3	20.00	60.00
Orchard	2	50.00	
	90		495.00

Value of land \$495.00
Value of improvements 300.00
Value of orchard 100.00
Value of tract 895.00
Average value per acre 9.94

\*Note - Computation of area by former surveyor is believed to be erroneous due in large part to surface measurement.

Det for 2 9. 0
Claim of Mary E. Nodsan and F. H. Dodsan
Claim of Many Co. Wood Sau and The Contract
In the Circuit Court of Ruppaliannack County, Virginia, No. 149, At Law. The State Commission on Conservation and Development of the State of Virginia, Petitioner, vs. Clipton Ceylor et als and 37400
tioner, vs. Clipton aylor et als and 37400 acres
more or less, of land in Habkahannack County, Virginia, Defendants.
The undersigned, in answer to the petition of the State Commission on Conservation and Development of the State of Virginia, and in response to the notice of condemnation awarded upon the filing of said petition and published in accordance with the order of the Circuit
Court of has answer to said petition and to said notice. You
as his answer to said petition and to said notice.  My name is Mary 6, Nod Son t J. W. Dod son  My Post Office Address is Mary E. Dodson Flint Will be Front Royal, as his leave of the Court to the this  My Post Office Address is Mary E. Dodson Flint Will be Front Royal, as his leave of the Court to the
I claim a right, title, estate or interest in a tract or parcel of land within the area sought to be condemned, containing about120_9acres, on which there are the following
building of the second is
I room dwelling; Stable, I hen hauser, Com hause, meat hause,
This land is located about 32 miles from Skerryville Virginia, in
the Liedmont Magisterial District of said County.
I claim the following right, title, estate or interest in the tract or parcel of land described above: (In this space claimant should say whether he is sole owner or joint owner, and if joint owner give names of the joint owners. If claimant is not sole or joint owner, he should set out exactly what right, title, estate or interest he has in or to the tract or parcel of land described above).
fout owners.
Ceach own 1/2 wit ent in above property.
The land owners adjacent to the above described tract or parcel of land are as follows:  North Will Meneful & Bullet atkins.
South_Albert Clark
East Dudley Pullen & ashley atkins. West Mrs. William Hancey
I acquired my right, title, estate or interest to this property about the year 1927 in the
following manner:
By deed from Burnett Miller, Conix, ct. ct. Roppik. Co. V. later J. W. Dodson bought 1/2 wit. in about property
I claim that the total value of this tract or parcel of land with the improvements there-
on is \$_3500
in and to this tract or parcel of land with the improvements thereon is \$35000.
I am the owner ofacres of land adjoining the above described tract or parcel of land but lying outside the Park area, which I claim will be damaged by the pro-
posed condemnation of lands within the Park area, to the extent of \$
description of the tract or parcel of land by metes and bounds).  Remarks: We have 100 apple trees 14 yes old, Gorko, stayman,
Gono, + other varieties), also 30 old true; eve believe there is
sufficient timber for 25'0000 stones! also there are 30
large walnut trees now ready for morket and number of
Small Walnut true
Witness my signature (or my name and mark attached hereto) thisday of aug ust, 1930.
STATE OF VIRGINIA. COUNTY OF Lappalanned To-wit:
The undersigned hereby certifies that F. 10. Workson the above named claimant personally appeared before him and made oath that the matters and things appearing in his above answer are true to the best of his knowledge and belief,
and things appearing in his above answer are true to the best of his knowledge and belief, this
Clerk of the Court, or Special Investigator or Notary Public, or Justice of the Peace.
Notary Public, or Justice of the Peace.

CLERK'S OFFICE RAPPAHANNOCK COUNTY aug. 21-1930.

Claim of Mary E. Dodson 4. M. Dodson